

THE NEUBERGER SPECTRA OF NONLINEAR SUPERPOSITION OPERATORS IN THE SPACES OF SEQUENCES

Sanela Halilović and Ramiz Vugdalić

ABSTRACT. In this paper we consider the nonlinear superposition operator F in l_p spaces of sequences, generated by the function

$$f(s, u) = a(s) + u^n \quad \text{or} \quad f(s, u) = a(s) \cdot u^n$$

First we show that these operators are Fréchet differentiable. Then we find out the Neuberger spectra $\sigma_N(F)$ of these operators. We compare it with some other nonlinear spectra and indicate some possible applications.

1. Introduction and Preliminaries

In the last 50 years there have been presented several ways of defining and studying spectra for nonlinear operators ([2], [8], [9]). One of them was introduced by J.W.Neuberger in 1969.([4]) for the class of continuously Fréchet differentiable operators. The Neuberger spectrum of nonlinear operators shares some properties with the usual spectrum of bounded linear operators, such as: it is always nonempty if the underlying space is complex and it always contains the eigenvalues of an operator which keeps zero fixed. In this paper we are finding out the Neuberger spectrum of some nonlinear superposition operators in l_p spaces of sequences. The superposition operator plays an important role in numerous mathematical investigations. The Neuberger spectrum may be useful in solvability of certain operator equations and eigenvalue problems ([4]). First, let us introduce some preliminary definitions and facts for nonlinear superposition operators in Banach spaces l_p .

Let $f = f(s, u)$ be a function defined on $\mathbb{N} \times \mathbb{R}$ (or $\mathbb{N} \times \mathbb{C}$) with the values in \mathbb{R} (or respectively \mathbb{C}). Given a function $x = x(s)$, by applying f , we get another

2010 *Mathematics Subject Classification.* Primary 47J10; Secondary 47H30.

Key words and phrases. Neuberger spectrum, Fréchet derivative, superposition operator, spaces of sequences.

function $y = y(s)$ on \mathbb{N} by:

$$y(s) = f(s, x(s)).$$

In this way, the function f generates an operator F :

$$(1.1) \quad Fx(s) = f(s, x(s)),$$

which is usually called superposition operator, Nemytskij operator or composition operator ([3], [1]).

We are going to observe the operator of superposition, defined in the spaces of sequences l_p ($1 \leq p \leq \infty$).

THEOREM 1.1. (see [1]) *Let $1 \leq p, q < \infty$. Then the following properties are equivalent:*

- the operator F acts from l_p to l_q ;
- there are functions $a(s) \in l_q$ and constants $\delta > 0, n \in \mathbb{N}, b \geq 0$, for which $|f(s, u)| \leq a(s) + b|u|^{\frac{p}{q}}$ ($s \geq n, |u| < \delta$);
- for any $\varepsilon > 0$ there exists a function $a_\varepsilon \in l_q$ and constants $\delta_\varepsilon > 0, n_\varepsilon \in \mathbb{N}, b_\varepsilon \geq 0$, for which $\|a_\varepsilon(s)\|_q < \varepsilon$ and

$$|f(s, u)| \leq a_\varepsilon(s) + b_\varepsilon |u|^{\frac{p}{q}} \quad (s \geq n_\varepsilon, |u| \leq \delta_\varepsilon).$$

THEOREM 1.2. ([1], [7]) *Let $1 \leq p, q < \infty$ and let the superposition operator (1.1), generated by the function $f(s, u)$, act from l_p to l_q . Then this operator is continuous if and only if each of the functions is continuous for every $s \in \mathbb{N}$.*

In the sequence, X and Y denote Banach spaces and \mathbb{K} is a field of real or complex numbers.

DEFINITION 1.1. ([2], [3]) An operator $F : X \rightarrow Y$ is called Fréchet differentiable at $x_0 \in X$ if there is a linear bounded operator $L : X \rightarrow Y$ such that

$$(1.2) \quad \lim_{\|h\| \rightarrow 0} \frac{1}{\|h\|} \|F(x_0 + h) - F(x_0) - Lh\| = 0 \quad (h \in X).$$

In this case this linear operator L is called Fréchet derivative of F at x_0 and denoted by $F'(x_0)$. The value $F'(x_0)x \in Y$ for arbitrary $x \in X$, is called Fréchet derivative of operator F at x_0 along x .

If F is differentiable at each point $x \in X$ and the map $x \mapsto F'(x)$ is continuous, we write $F \in \mathfrak{C}^1(X, Y)$ and call F continuously differentiable.

THEOREM 1.3. ([6], [7]) *Let $1 \leq p, q < \infty$ and the operator F generated by the function $f(s, u)$ acts from l_p into l_q . The operator F is differentiable at $x_0 \in l_p$ if and only if $f'_u(s, \cdot)$ is continuous at x_0 for almost all $s \in \mathbb{N}$.*

More informations on Fréchet differentiable operators may be found in [10]. For the continuously differentiable operators $F \in \mathfrak{C}^1(X)$, Neuberger introduced the Neuberger resolvent set and spectrum.

DEFINITION 1.2. ([2], [4]) Let an operator $F : X \rightarrow X$ admit at each point $x \in X$ a Fréchet derivative $F'(x)$ which depends continuously (in the operator norm) on x . The set

$$\rho_N(F) = \{\lambda \in \mathbb{K} : \lambda I - F \text{ is bijective and } (\lambda I - F)^{-1} \in \mathfrak{C}^1(X)\}$$

is called Neuberger resolvent set, and the set

$$\sigma_N(F) = \mathbb{K} \setminus \rho_N(F)$$

is called Neuberger spectrum of F .

REMARK 1.1. A point $\lambda \in \mathbb{K}$ belongs to $\rho_R(F)$ if and only if $\lambda I - F$ is a diffeomorphism on X .

2. Fréchet differentiability

As the Neuberger spectrum deals with Fréchet differentiable operators, in this section we will first investigate differentiability of some superposition operators, according to the Definition 1.1.

I) Find out if operator $F : l_p \rightarrow l_q$, generated by the function $f(s, u) = u^2$, is differentiable. For arbitrary $x_0 = (x_1, x_2, \dots) \in l_p$ and $h = (h_1, h_2, \dots) \in l_p$ we have:

$$\begin{aligned} I &= \lim_{\|h\|_p \rightarrow 0} \frac{1}{\|h\|_p} \|F(x_0 + h) - F(x_0) - Lh\|_q = \\ &= \lim_{\|h\|_p \rightarrow 0} \frac{1}{\|h\|_p} \left\| \left((x_1 + h_1)^2 - x_1^2, (x_2 + h_2)^2 - x_2^2, \dots \right) - Lh \right\|_q = \\ &\quad \lim_{\|h\|_p \rightarrow 0} \frac{1}{\|h\|_p} \left\| (2x_1 h_1 + h_1^2, 2x_2 h_2 + h_2^2, \dots) - Lh \right\|_q. \end{aligned}$$

If we take linear bounded operator $L : l_p \rightarrow l_q$ to be a multiplication operator

$$Lh(s) = a(s)h(s) = 2x_s h_s, \text{ i.e. } Lh = (2x_1 h_1, 2x_2 h_2, \dots),$$

then

$$\begin{aligned} (2.1) \quad I &= \lim_{\|h\|_p \rightarrow 0} \frac{1}{\|h\|_p} \left\| (2x_1 h_1 + h_1^2, 2x_2 h_2 + h_2^2, \dots) - (2x_1 h_1, 2x_2 h_2, \dots) \right\|_q \\ &= \lim_{\|h\|_p \rightarrow 0} \frac{1}{\|h\|_p} \left\| (h_1^2, h_2^2, \dots) \right\|_q \end{aligned}$$

a) In case that operator F acts from l_2 to l_1 , then

$$I = \lim_{\|h\|_2 \rightarrow 0} \frac{1}{\left(\sum_{i=1}^{\infty} |h_i|^2 \right)^{\frac{1}{2}}} \cdot \sum_{i=1}^{\infty} |h_i^2| = \lim_{\|h\|_2 \rightarrow 0} \left(\sum_{i=1}^{\infty} |h_i^2| \right)^{\frac{1}{2}} = \lim_{\|h\|_2 \rightarrow 0} \|h\|_2 = 0.$$

b) In case that operator F acts from l_1 to l_1 , from (2.1) it follows:

$$\begin{aligned}
I &= \lim_{\|h\|_p \rightarrow 0} \frac{1}{\|h\|_p} \|(h_1^2, h_2^2, \dots)\|_q = \lim_{\|h\|_1 \rightarrow 0} \frac{1}{\|h\|_1} \|(h_1^2, h_2^2, \dots)\|_1 \\
&= \lim_{\|h\|_1 \rightarrow 0} \frac{1}{\sum_{i=1}^{\infty} |h_i|} \cdot \sum_{i=1}^{\infty} |h_i^2| \leq \lim_{\|h\|_1 \rightarrow 0} \frac{1}{\sum_{i=1}^{\infty} |h_i|} \cdot \sum_{i=1}^{\infty} |h_i| \cdot \sum_{i=1}^{\infty} |h_i| \\
&= \lim_{\|h\|_1 \rightarrow 0} \sum_{i=1}^{\infty} |h_i| = \lim_{\|h\|_1 \rightarrow 0} \|h\|_1 = 0.
\end{aligned}$$

c) In case that operator F acts from l_∞ to l_∞ , from (2.1) it follows:

$$\begin{aligned}
I &= \lim_{\|h\|_p \rightarrow 0} \frac{1}{\|h\|_p} \|(h_1^2, h_2^2, \dots)\|_q = \lim_{\|h\|_\infty \rightarrow 0} \frac{1}{\|h\|_\infty} \|(h_1^2, h_2^2, \dots)\|_\infty \\
&= \lim_{\|h\|_\infty \rightarrow 0} \frac{1}{\sup |h_i|} \cdot \sup |h_i^2| = \lim_{\|h\|_\infty \rightarrow 0} \frac{1}{\sup |h_i|} \cdot (\sup |h_i|)^2 \\
&= \lim_{\|h\|_\infty \rightarrow 0} \sup |h_i| = \lim_{\|h\|_\infty \rightarrow 0} \|h\|_\infty = 0.
\end{aligned}$$

Anyway, operator F is differentiable (at every point x_0) and Fréchet derivative of operator F at $x_0 = (x_1, x_2, \dots)$ along $h = (h_1, h_2, \dots)$, is given with:

$$F'(x_0)h = (2x_1h_1, 2x_2h_2, \dots, 2x_nh_n, \dots).$$

II) Let us see if operator $F : l_p \rightarrow l_q$, generated by the function $f(s, u) = u^3$, is differentiable. For arbitrary $x_0 = (x_1, x_2, \dots) \in l_p$ and $h = (h_1, h_2, \dots) \in l_p$ consider:

$$\begin{aligned}
I &= \lim_{\|h\|_p \rightarrow 0} \frac{1}{\|h\|_p} \|F(x_0 + h) - F(x_0) - Lh\|_q = \\
&= \lim_{\|h\|_p \rightarrow 0} \frac{1}{\|h\|_p} \left\| \left((x_1 + h_1)^3 - x_1^3, (x_2 + h_2)^3 - x_2^3, \dots \right) - Lh \right\|_q \\
&= \lim_{\|h\|_p \rightarrow 0} \frac{1}{\|h\|_p} \left\| (3x_1^2h_1 + 3x_1h_1^2 + h_1^3, 3x_2^2h_2 + 3x_2h_2^2 + h_2^3, \dots) - Lh \right\|_q.
\end{aligned}$$

If we assume that operator $L : l_p \rightarrow l_q$ is a linear bounded multiplication operator $Lh = L(h_1, h_2, \dots) = (3x_1^2h_1, 3x_2^2h_2, \dots)$, then we get

$$\begin{aligned}
(2.2) \quad I &= \lim_{\|h\|_p \rightarrow 0} \frac{1}{\|h\|_p} \left\| (3x_1^2h_1 + 3x_1h_1^2 + h_1^3, 3x_2^2h_2 + 3x_2h_2^2 + h_2^3, \dots) \right. \\
&\quad \left. - (3x_1^2h_1, 3x_2^2h_2, \dots) \right\|_q \\
&= \lim_{\|h\|_p \rightarrow 0} \frac{1}{\|h\|_p} \left\| (3x_1h_1^2 + h_1^3, 3x_2h_2^2 + h_2^3, \dots) \right\|_q
\end{aligned}$$

If operator F acts from l_3 to l_1 , then from (2.2) further we get:

$$\begin{aligned}
I &= \lim_{\|h\|_3 \rightarrow 0} \frac{1}{\|h\|_3} \|(3x_1h_1^2 + h_1^3, 3x_2h_2^2 + h_2^3, \dots)\|_1 = \lim_{\|h\|_3 \rightarrow 0} \frac{1}{\left(\sum_{i=1}^{\infty} |h_i|^3\right)^{\frac{1}{3}}} \cdot \sum_{i=1}^{\infty} |3x_ih_i^2 + h_i^3| \\
&\leq \lim_{\|h\|_3 \rightarrow 0} \frac{1}{\left(\sum_{i=1}^{\infty} |h_i|^3\right)^{\frac{1}{3}}} \cdot \left\{ \sum_{i=1}^{\infty} |3x_ih_i^2| + \sum_{i=1}^{\infty} |h_i^3| \right\} \\
&= \lim_{\|h\|_3 \rightarrow 0} \frac{1}{\left(\sum_{i=1}^{\infty} |h_i|^3\right)^{\frac{1}{3}}} \cdot \left\{ \sum_{i=1}^{\infty} |3x_ih_i^2| \right\} + \left\{ \sum_{i=1}^{\infty} |h_i^3| \right\}^{\frac{2}{3}} \\
&= \lim_{\|h\|_3 \rightarrow 0} \frac{1}{\left(\sum_{i=1}^{\infty} |h_i|^3\right)^{\frac{1}{3}}} \cdot \left(\sum_{i=1}^{\infty} |3x_ih_i^2| \right).
\end{aligned}$$

Here, by applying Hölder inequality ([11]), we get:

$$\begin{aligned}
I &= 3 \cdot \lim_{\|h\|_3 \rightarrow 0} \frac{1}{\left(\sum_{i=1}^{\infty} |h_i|^3\right)^{\frac{1}{3}}} \cdot \left(\sum_{i=1}^{\infty} |x_ih_i^2| \right) \leq \\
&\leq 3 \cdot \lim_{\|h\|_3 \rightarrow 0} \frac{1}{\left(\sum_{i=1}^{\infty} |h_i|^3\right)^{\frac{1}{3}}} \cdot \left\{ \sum_{i=1}^{\infty} |x_i^3| \right\}^{\frac{1}{3}} \cdot \left\{ \sum_{i=1}^{\infty} |h_i^2|^{\frac{3}{2}} \right\}^{\frac{2}{3}} = \\
&= 3 \left\{ \sum_{i=1}^{\infty} |x_i^3| \right\}^{\frac{1}{3}} \cdot \lim_{\|h\|_3 \rightarrow 0} \frac{1}{\left(\sum_{i=1}^{\infty} |h_i|^3\right)^{\frac{1}{3}}} \cdot \left\{ \sum_{i=1}^{\infty} |h_i|^3 \right\}^{\frac{2}{3}} = \\
&= 3 \|x_0\| \cdot \lim_{\|h\|_3 \rightarrow 0} \left\{ \sum_{i=1}^{\infty} |h_i|^3 \right\}^{\frac{1}{3}} = 0.
\end{aligned}$$

Hence, operator F is differentiable (at every point x_0) and its Fréchet derivative of operator F at $x_0 = (x_1, x_2, \dots)$ along $h = (h_1, h_2, \dots)$, is:

$$F'(x_0)(h_1, h_2, \dots) = (3x_1^2h_1, 3x_2^2h_2, \dots, 3x_n^2h_n, \dots).$$

Generally,

PROPOSITION 2.1. *Let a superposition operator $F : l_p \rightarrow l_q$ be generated by the function $f(s, u) = u^n, n \in \mathbb{N}, 1 \leq p \leq nq \leq \infty$. It is a continuously Fréchet differentiable operator and its Fréchet derivative at $x_0 \in l_p$ along h is given by:*

$$F'(x_0)(h_1, h_2, \dots) = (nx_1^{n-1}h_1, nx_2^{n-1}h_2, \dots, \dots).$$

III) If we have a superposition operator F generated by the function

$f(s, u) = \sqrt[n]{u}$ then it is not differentiable at $x_0 = 0$. Indeed, the function $f'_u(s, u) = \frac{1}{n \cdot \sqrt[n]{u^{n-1}}}$ is not continuous in $u = 0$, so from the Theorem 1.3 it follows that this operator F is not (continuously) differentiable.

IV) Let us see if a superposition operator $F : l_1 \rightarrow l_1$, generated by $f(s, u) = \frac{1}{s(s+1)} + u^2$, is differentiable

For arbitrary $x_0 = (x_1, x_2, \dots) \in l_1$, we have:

$$\begin{aligned} I &= \lim_{\|h\|_1 \rightarrow 0} \frac{1}{\|h\|_1} \|F(x_0 + h) - F(x_0) - Lh\|_1 = \\ &= \lim_{\|h\|_1 \rightarrow 0} \frac{1}{\|h\|_1} \|F(x_1 + h_1, x_2 + h_2, \dots) - F(x_1, x_2, \dots) - Lh\|_1 = \\ &= \lim_{\|h\|_1 \rightarrow 0} \frac{1}{\|h\|_1} \left\| \left(\left(\frac{1}{2} + (x_1 + h_1)^2, \frac{1}{6} + (x_2 + h_2)^2, \dots \right) - \left(\frac{1}{2} + x_1^2, \frac{1}{6} + x_2^2, \dots \right) \right) - Lh \right\|_1 \\ &= \lim_{\|h\|_1 \rightarrow 0} \frac{1}{\|h\|_1} \|(2x_1 h_1 + h_1^2, 2x_2 h_2 + h_2^2, \dots) - Lh\|_1. \end{aligned}$$

If we take the operator L as

$$Lh = L(h_1, h_2, \dots) = (2x_1 h_1, 2x_2 h_2, \dots),$$

then I becomes:

$$\begin{aligned} I &= \lim_{\|h\|_1 \rightarrow 0} \frac{1}{\|h\|_1} \|(2x_1 h_1 + h_1^2, 2x_2 h_2 + h_2^2, \dots) - (2x_1 h_1, 2x_2 h_2, \dots)\|_1 = \\ &= \lim_{\|h\|_1 \rightarrow 0} \frac{1}{\|h\|_1} \|(h_1^2, h_2^2, \dots)\|_1 = \lim_{\|h\|_1 \rightarrow 0} \frac{\sum_{i=1}^{\infty} |h_i|^2}{\|h\|_1} \leq \\ &\leq \lim_{\|h\|_1 \rightarrow 0} \frac{\sum_{i=1}^{\infty} |h_i| \cdot \sum_{i=1}^{\infty} |h_i|}{\|h\|_1} = \lim_{\|h\|_1 \rightarrow 0} \|h\|_1 = 0. \end{aligned}$$

This means that F is differentiable at every $x_0 = (x_1, x_2, \dots) \in l_1$ and its derivative is given with: $F'(x_0)(h_1, h_2, \dots) = (2x_1 h_1, 2x_2 h_2, \dots)$.

We can see that Fréchet derivative of this operator is the same one as Fréchet derivative of an operator F generated by the function $f(s, u) = u^2$.

Generally,

PROPOSITION 2.2. *Let a superposition operator $G : l_p \rightarrow l_q$ ($1 \leq p, q \leq \infty$) be generated by the function $g(u)$ and a superposition operator $F : l_p \rightarrow l_q$ be generated by the function $f(s, u) = \varphi(s) + g(u)$, ($\varphi \in l_t$, $1 \leq t \leq q$). If operator G is differentiable at $x_0 \in l_p$ then operator F is also differentiable at x_0 and $F'(x_0)h = G'(x_0)h$.*

According to the Theorem 1.1, since operator G acts from l_p to l_q , there are $a \in l_q$ and constants $\delta > 0, n_0 \in \mathbb{N}, b \geq 0$ such that:

$$|g(u)| \leq a(s) + b \cdot |u|^{\frac{p}{q}}, \quad (\forall s \geq n_0, |u| < \delta). \quad (*)$$

Now we have

$$\begin{aligned} |f(s, u)| &= |\varphi(s) + g(u)| \leq |\varphi(s)| + |g(u)| \stackrel{(*)}{\leq} \\ |\varphi(s)| + a(s) + b \cdot |u|^{\frac{p}{q}} &= r(s) + b \cdot |u|^{\frac{p}{q}}, \end{aligned}$$

where $r(s) = |\varphi(s)| + a(s)$. As $1 \leq t \leq q$, it holds $l_t \subseteq l_q$, so $\varphi \in l_q$ (and also $|\varphi| \in l_q$). The sequence r is also from the space l_q since it is a sum of two sequences from l_q . We have shown that there are $r \in l_q$ and constants $\delta > 0, n_0 \in \mathbb{N}, b \geq 0$ such that:

$$|f(s, u)| \leq r(s) + b \cdot |u|^{\frac{p}{q}},$$

and from the Theorem 1.1, it means that operator F acts from l_p to l_q , indeed.

EXAMPLE 2.1. Consider the superposition operator F generated by $f(s, u) = \frac{1}{2^s} \cdot u^2$,

$$Fx(s) = \frac{1}{2^s} \cdot x^2(s).$$

If $x = (x_1, x_2, \dots) \in l_2$ then $Fx = F(x_1, x_2, \dots) = (\frac{1}{2^1} \cdot x_1^2, \frac{1}{2^2} \cdot x_2^2, \dots) \in l_1$. Really,

$$\sum_{s=1}^{\infty} \left| \frac{1}{2^s} \cdot x_s^2 \right| < \sum_{s=1}^{\infty} |x_s^2| = \|x\|_2^2 < \infty,$$

so operator F acts from l_2 to l_1 (also it can be shown, by Theorem 1.1, that $F : l_1 \rightarrow l_1$). We are interested in differentiability of this operator. If we take arbitrary $x_0 = (x_1, x_2, \dots)$ from l_2 , then

$$\begin{aligned} I &= \lim_{\|h\|_2 \rightarrow 0} \frac{1}{\|h\|_2} \|F(x_0 + h) - F(x_0) - Lh\|_1 = \\ &= \lim_{\|h\|_2 \rightarrow 0} \frac{1}{\|h\|_2} \|F(x_1 + h_1, x_2 + h_2, \dots) - F(x_1, x_2, \dots) - Lh\|_1 = \\ &= \lim_{\|h\|_2 \rightarrow 0} \frac{1}{\|h\|_2} \left\| \left(\frac{1}{2^1} (x_1 + h_1)^2, \frac{1}{2^2} (x_2 + h_2)^2, \dots \right) - \left(\frac{1}{2^1} x_1^2, \frac{1}{2^2} x_2^2, \dots \right) - Lh \right\|_1 \\ &= \lim_{\|h\|_2 \rightarrow 0} \frac{1}{\|h\|_2} \left\| \left(\frac{1}{2^1} (2x_1 h_1 + h_1^2), \frac{1}{2^2} (2x_2 h_2 + h_2^2), \dots \right) - Lh \right\|_1. \end{aligned}$$

Now, if we take $L(h_1, h_2, \dots) = \left(\frac{2x_1}{2^1}h_1, \frac{2x_2}{2^2}h_2, \dots\right) = \left(\frac{x_1}{2^0}h_1, \frac{x_2}{2^1}h_2, \dots\right)$ we get

$$\begin{aligned} I &= \lim_{\|h\|_2 \rightarrow 0} \frac{1}{\|h\|_2} \left\| \left(\frac{1}{2^1} (2x_1h_1 + h_1^2), \frac{1}{2^2} (2x_2h_2 + h_2^2), \dots \right) - \left(\frac{x_1}{2^0}h_1, \frac{x_2}{2^1}h_2, \dots \right) \right\|_1 = \\ &= \lim_{\|h\|_2 \rightarrow 0} \frac{1}{\|h\|_2} \left\| \left(\frac{h_1^2}{2^1}, \frac{h_2^2}{2^2}, \frac{h_3^2}{2^3}, \dots \right) \right\|_1 = \lim_{\|h\|_2 \rightarrow 0} \frac{\sum_{i=1}^{\infty} \left| \frac{1}{2^i} \cdot h_i^2 \right|}{\left(\sum_{i=1}^{\infty} |h_i|^2 \right)^{\frac{1}{2}}} \leq \\ &\leq \lim_{\|h\|_2 \rightarrow 0} \frac{\frac{1}{2} \cdot \sum_{i=1}^{\infty} |h_i|^2}{\left(\sum_{i=1}^{\infty} |h_i|^2 \right)^{\frac{1}{2}}} = \frac{1}{2} \cdot \lim_{\|h\|_2 \rightarrow 0} \left(\sum_{i=1}^{\infty} |h_i|^2 \right)^{\frac{1}{2}} = \frac{1}{2} \cdot \lim_{\|h\|_2 \rightarrow 0} \|h\|_2 = 0. \end{aligned}$$

It means this operator is Fréchet differentiable and its derivative at $x_0 = (x_1, x_2, \dots)$ along h is:

$$F'(x_0)(h_1, h_2, \dots) = \left(\frac{x_1}{2^0}h_1, \frac{x_2}{2^1}h_2, \dots \right) = \left(\frac{1}{2^1} \cdot 2x_1h_1, \frac{1}{2^2} \cdot 2x_2h_2, \dots \right).$$

PROPOSITION 2.3. *Let a superposition operator $G : l_p \rightarrow l_q$ ($1 \leq p, q \leq \infty$) be generated by the function $g(u)$. If operator G is a Fréchet differentiable operator at point $x_0 \in l_p$, then operator $F : l_p \rightarrow l_q$, generated by the function $f(s, u) = \varphi(s) \cdot g(u)$, ($\varphi \in l_\infty$), is also Fréchet differentiable operator at the same point x_0 .*

Again, according to the Theorem 1.1, there are $a \in l_q$ and constants $\delta > 0, n_0 \in \mathbb{N}, b \geq 0$ such that (*) holds. Now we have

$$\begin{aligned} |f(s, u)| &= |\varphi(s) \cdot g(u)| \leq |\varphi(s)| \cdot |g(u)| \stackrel{(*)}{\leq} \\ |\varphi(s)| \cdot \left(a(s) + b \cdot |u|^{\frac{p}{q}} \right) &\leq |\varphi(s)| \cdot a(s) + |\varphi(s)| \cdot b \cdot |u|^{\frac{p}{q}} \quad (**) \end{aligned}$$

Since φ is bounded sequence there exists $\sup_{s \in \mathbb{N}} |\varphi(s)| = C < \infty$. From (**) by denoting $d(s) = C \cdot a(s)$ and $k = C \cdot b$, we get

$$|f(s, u)| \leq d(s) + k \cdot |u|^{\frac{p}{q}}, \quad (\forall s \geq n_0, |u| < \delta),$$

with $d \in l_q, k \geq 0$. This means that really operator F acts from l_p to l_q .

We have:

$$f'_u(s, u) = \varphi(s) \cdot g'_u(u) = \varphi(s) \cdot p(u),$$

which gives us a generator for linear bounded multiplication operator-Fréchet derivative at $x_0 = (x_1, x_2, \dots)$:

$$F'(x_0)(h_1, h_2, \dots) = (\varphi(1) \cdot p(x_1)h_1, \varphi(2) \cdot p(x_2)h_2, \dots).$$

It is also known the following Theorem which gives us the necessary and sufficient conditions for the superposition operator (1.1) to be a Fréchet differentiable operator (see [1], [6], [7]):

THEOREM 2.1. *Let $f(s, u)$ be a Carathéodory function and operator F generated by the function $f(s, u)$ acts from l_p to l_q . If operator F is differentiable in $x_0 \in l_p$, then its (Fréchet) derivative in x_0 has the form*

$$(2.3) \quad F'(x_0)h(s) = a(s)h(s)$$

where $a \in l_q/l_p$ is given by

$$(2.4) \quad a(s) = \lim_{u \rightarrow 0} \frac{f(s, x_0(s) + u) - f(s, x_0(s))}{u}$$

If superposition operator G , generated by the function

$$g(s, u) = \begin{cases} \frac{1}{u} [f(s, x(s) + u) - f(s, x(s))]; & u \neq 0 \\ a(s) & ; u = 0, \end{cases}$$

acts from l_p to l_q/l_p , and it is continuous in 0, then F is differentiable in x_0 and formula (2.3) holds.

Here space l_q/l_p is the set of all multipliers $(a(s))$ from l_p to l_q . It is a Banach space of sequences, defined by

$$(2.5) \quad l_q/l_p = \begin{cases} l_{pq(p-q)^{-1}} & \text{for } p > q \\ l_\infty & \text{for } p \leq q. \end{cases}$$

3. The Neuberger spectrum

In this section we are going to find out the Neuberger spectrum of some non-linear superposition operators.

First we will consider the superposition operator F generated by the function $f(s, u) = a(s) + u^n$, $n \in \mathbb{N}$, where $(a(s))_{s \in \mathbb{N}}$ is a sequence from the space l_p ($1 \leq p \leq \infty$). Since $a \in l_p \subset l_\infty$, we can see that operator F can act from l_∞ to l_∞ or according to the Theorem 1.1, F can act from l_p to l_p .

a) Case $1 \leq p < \infty$

$$|f(s, u)| = |a(s) + u^n| \leq |a(s)| + |u^n|.$$

For $|u| < 1$ we have $|u^n| < |u|$, so we get

$$|f(s, u)| \leq |a(s)| + |u^n| < d(s) + |u|, \quad (\Delta)$$

where $d(s) = |a(s)|$. So, there exists $d \in l_p$ and constants $\delta = 1, n_0 = 1, b = 1$ such that $\forall s \geq n_0, |u| < \delta$ inequality (Δ) holds. From the Theorem 1.1 it follows that $F : l_p \rightarrow l_p$.

b) Case $p = l_\infty$

For arbitrary $x = (x_1, x_2, \dots) \in l_\infty \implies \exists \sup_{s \in \mathbb{N}} x_s = B < \infty$; also $a \in l_\infty \implies$

$\exists \sup_{s \in \mathbb{N}} a(s) = A < \infty$.

$$\begin{aligned} Fx &= (a(1) + x_1^n, a(2) + x_2^n, \dots) \\ \sup_{s \in \mathbb{N}} |Fx(s)| &= \sup_{s \in \mathbb{N}} |a(s) + x_s^n| \leq \sup_{s \in \mathbb{N}} |a(s)| + \sup_{s \in \mathbb{N}} |x_s^n| = A + B^n < \infty. \end{aligned}$$

We see that $Fx \in l_\infty$, so indeed F acts from l_∞ to l_∞ .

From the Proposition 2.1 and the Proposition 2.2, we see it is continuously differentiable operator ($F \in \mathfrak{C}^1(l_p)$) with

$$F'(x_0)(h_1, h_2, \dots) = (nx_1^{n-1}h_1, nx_2^{n-1}h_2, \dots).$$

We can also write

$$F'(x_0)h(s) = b(s)h(s),$$

where $b(s) = n \cdot (x_0(s))^{n-1}$ is a multiplier from l_p to l_p . Since $x_0 \in l_p \subset l_\infty$, it is clear that $b \in l_\infty$. Compare with Theorem 2.1, (2.3) and (2.5).

LEMMA 3.1. *Let the superposition operator $F : l_p \rightarrow l_p$ be generated by the function $f(s, u) = a(s) + u^n$, where n is an even number and $(a(s))_s$ is a sequence from the space l_t ($1 \leq t \leq p \leq \infty$). Then the Neuberger spectrum of F is $\sigma_N(F) = \mathbb{R}$ (or $\sigma_N(F) = \mathbb{C}$).*

PROOF. Denote $a = (a_1, a_2, \dots) \in l_p$. For $x = (x_1, x_2, \dots)$ we have

$$Fx = F(x_1, x_2, \dots) = (a_1 + x_1^n, a_2 + x_2^n, \dots).$$

Find out if $\lambda I - F$ is an injective operator, for any real λ . Suppose that

$$(\lambda I - F)x = (\lambda I - F)y,$$

for some $x, y \in l_p$. Then

$$(3.1) \quad (\lambda x_1 - a_1 - x_1^n, \lambda x_2 - a_2 - x_2^n, \dots) = (\lambda y_1 - a_1 - y_1^n, \lambda y_2 - a_2 - y_2^n, \dots)$$

For $\lambda = 0$ we get

$$\begin{aligned} (-a_1 - x_1^n, -a_2 - x_2^n, \dots) &= (-a_1 - y_1^n, -a_2 - y_2^n, \dots) \implies \\ (\forall i \in N) -a_i - x_i^n &= -a_i - y_i^n \implies \\ (\forall i \in N) x_i^n &= y_i^n. \end{aligned}$$

Number n is an even number, so it does not have to follow $x_i = y_i, (\forall i \in N)$. This is not injective (nor bijective) mapping so $0 \in \sigma_N(F)$. If $\lambda \neq 0$ then from equality (3.1) we get $(\forall i \in N)$:

$$\begin{aligned} \lambda x_i - a_i - x_i^n &= \lambda y_i - a_i - y_i^n \\ \lambda x_i - x_i^n &= \lambda y_i - y_i^n \iff \lambda(x_i - y_i) = x_i^n - y_i^n \\ \lambda(x_i - y_i) &= (x_i - y_i)(x_i^{n-1} + x_i^{n-2}y_i + \dots + x_i y_i^{n-2} + y_i^{n-1}) \implies \end{aligned}$$

$$(3.2) \quad (x_i = y_i) \vee$$

$$(3.3) \quad (x_i^{n-1} + x_i^{n-2}y_i + \dots + x_i y_i^{n-2} + y_i^{n-1} - \lambda = 0).$$

Hence (3.3) is an odd-degree polynomial equation, there is always at least one real (nontrivial) solution and $\lambda I - F$ is not injective mapping. We proved that $\lambda I - F$ is not bijective mapping for any real λ . Operator F is a continuously differentiable operator (as we see from the Proposition 2.1 and the Proposition 2.2) and $\lambda I - F$ is not bijective for any real λ . Thus, according to the Definition 1.2, **the Neuberger spectrum of this operator F is $\sigma_N(F) = \mathbb{R}$** . In case that sequences were defined in \mathbb{C} we would get the Neuberger spectrum $\sigma_N(F) = \mathbb{C}$. \square

LEMMA 3.2. Let the superposition operator $F : l_p \rightarrow l_p$ be generated by the function $f(s, u) = a(s) + u^n$, where n is an odd number ($n \geq 3$) and $(a(s))_s$ is a sequence from the space l_t ($1 \leq t \leq p \leq \infty$). Then the Neuberger spectrum of F is $\sigma_N(F) = [0, \infty)$ (or $\sigma_N(F) = \mathbb{C}$).

PROOF. Consider a continuous superposition operator F defined in spaces of sequences l_p , by the function $f(s, u) = a(s) + u^n$, where $a \in l_p$ and n is an odd number.

$$Fx = F(x_1, x_2, \dots) = (a_1 + x_1^n, a_2 + x_2^n, \dots).$$

Consider now the operator

$$(\lambda I - F)(x_1, x_2, \dots) = (\lambda x_1 - a_1 - x_1^n, \lambda x_2 - a_2 - x_2^n, \dots).$$

For $\lambda = 0$, the operator $-F$ is injective, because from $-Fx = -Fy \iff (-a_1 - x_1^n, -a_2 - x_2^n, \dots) = (-a_1 - y_1^n, -a_2 - y_2^n, \dots)$, we get

$$-a_i - x_i^n = -a_i - y_i^n, \forall i \in \mathbb{N} \implies x_i^n = y_i^n, \forall i \in \mathbb{N} \implies x = y.$$

The operator $-F$ is surjective because for arbitrary $y \in l_q$ there are some $x \in l_p$ such that $-Fx = y$. Really:

$$\begin{aligned} -Fx &= (-a_1 - x_1^n, -a_2 - x_2^n, \dots) = (y_1, y_2, \dots) \iff \\ x &= (\sqrt[n]{-a_1 - y_1}, \sqrt[n]{-a_2 - y_2}, \dots). \end{aligned}$$

Let now $\lambda \neq 0$:

$$(3.4a) \quad (\lambda I - F)(x_1, x_2, \dots) = (\lambda I - F)(y_1, y_2, \dots)$$

$$(\lambda x_1 - a_1 - x_1^n, \lambda x_2 - a_2 - x_2^n, \dots) = (\lambda y_1 - a_1 - y_1^n, \lambda y_2 - a_2 - y_2^n, \dots)$$

$$\lambda x_i - a_i - x_i^n = \lambda y_i - a_i - y_i^n, \forall i \in \mathbb{N}$$

$$(3.4b) \quad x_i^n - \lambda x_i = y_i^n - \lambda y_i, \forall i \in \mathbb{N}.$$

$$(3.4c) \quad (x_i^n - y_i^n) = \lambda(x_i - y_i), \forall i \in \mathbb{N}.$$

From (3.4c) we get $(x_i = y_i)$ or

$$(3.5) \quad x_i^{n-1} + x_i^{n-2}y_i + \dots + x_i y_i^{n-2} + y_i^{n-1} - \lambda = 0.$$

If $\lambda < 0$ then for $(x_i \geq 0 \wedge y_i \geq 0)$, or $(x_i \leq 0 \wedge y_i \leq 0)$, we have that

$$\begin{aligned} x_i^{n-1} + x_i^{n-2}y_i + \dots + x_i y_i^{n-2} + y_i^{n-1} &\geq 0 \quad \text{and} \\ x_i^{n-1} + x_i^{n-2}y_i + \dots + x_i y_i^{n-2} + y_i^{n-1} - \lambda &> 0. \end{aligned}$$

If $\lambda < 0$ and $(x_i \geq 0 \wedge y_i \leq 0)$ then: a) for $x_i \geq -y_i$ we have

$$\begin{aligned} x_i^{n-1} &\geq x_i^{n-2}(-y_i) \\ x_i^{n-3}y_i^2 &\geq x_i^{n-4}(-y_i)^3 \\ &\vdots \\ x_i^2y_i^{n-3} &\geq x_i(-y_i)^{n-2} \end{aligned}$$

From these inequalities by summing we get

$$\begin{aligned} x_i^{n-1} + x_i^{n-3}y_i^2 + \dots + x_i^2y_i^{n-3} &\geq -x_i^{n-2}y_i - x_i^{n-4}y_i^3 - \dots - x_iy_i^{n-2} \implies \\ x_i^{n-1} + x_i^{n-2}y_i + x_i^{n-3}y_i^2 + x_i^{n-4}y_i^3 + \dots + x_i^2y_i^{n-3} + x_iy_i^{n-2} &\geq 0 \end{aligned}$$

By adding two members $y_i^{n-1} \geq 0$ and $-\lambda > 0$, to the left side, we get

$$x_i^{n-1} + x_i^{n-2}y_i + \dots + x_i y_i^{n-2} + y_i^{n-1} - \lambda > 0.$$

b) for $x_i \leq -y_i$, we have

$$\begin{aligned} y_i^{n-1} &\geq x_i(-y_i)^{n-2} \\ x_i^2y_i^{n-3} &\geq x_i^3(-y_i)^{n-4} \\ &\vdots \\ x_i^{n-3}y_i^2 &\geq x_i^{n-2}(-y_i) \end{aligned}$$

From these inequalities by summing we get

$$\begin{aligned} y_i^{n-1} + x_i^2y_i^{n-3} + \dots + x_i^{n-3}y_i^2 &\geq -x_iy_i^{n-2} - x_i^3y_i^{n-4} - \dots - x_i^{n-2}y_i \implies \\ y_i^{n-1} + x_iy_i^{n-2} + x_i^2y_i^{n-3} + x_i^3y_i^{n-4} + \dots + x_i^{n-3}y_i^2 + x_i^{n-2}y_i &\geq 0. \end{aligned}$$

By adding two members $x_i^{n-1} \geq 0$ and $-\lambda > 0$, to the left side, we get

$$x_i^{n-1} + x_i^{n-2}y_i + \dots + x_i y_i^{n-2} + y_i^{n-1} - \lambda > 0.$$

If $\lambda < 0$ and $(x_i \leq 0 \wedge y_i \geq 0)$ we can analogously get the same inequality. So any way, from (3.4a) it follows that $x = y$ and $\lambda I - F$ is an injective operator (for $\lambda < 0$). We can see from the equations (3.4b) that this operator $\lambda I - F$ is injective if the operator $\lambda I - G$ (where G is operator generated by the function $g(s, u) = u^n$, (n is odd number)) is injective. Let us find out if the equation $(\lambda I - G)x = 0$ has any nontrivial solutions for $\lambda > 0$.

$$(3.6) \quad (\lambda I - G)(x_1, x_2, \dots) = (0, 0, \dots)$$

$$\begin{aligned} (\lambda x_1 - x_1^n, \lambda x_2 - x_2^n, \dots) &= (0, 0, \dots) \\ \lambda x_i - x_i^n &= 0, \forall i \in \mathbb{N} \\ x_i(\lambda - x_i^{n-1}) &= 0, \forall i \in \mathbb{N} \\ (x_i = 0 \vee x_i^{n-1} = \lambda), \forall i &\in \mathbb{N}. \end{aligned}$$

If $\lambda < 0$ then there is only trivial solution $x = (0, 0, \dots)$. If $\lambda > 0$, then it is possible that $x_i = \pm \sqrt[n-1]{\lambda}$ for some $i \in \mathbb{N}$, so the equation (3.6) has nontrivial

solutions also, such as $(\sqrt[n-1]{\lambda}, 0, 0, \dots)$. This implies (since $G0 = 0$) for $\lambda > 0$, that operator $\lambda I - G$ is not injective and also $\lambda I - F$ is not injective. So operator $\lambda I - F$ is not bijective mapping for $\lambda > 0$, hence

$$(3.7) \quad (0, \infty) \subseteq \sigma_N(F)$$

Let us see for $\lambda \neq 0$ and arbitrary $y \in l_q$, whether exists $x \in l_p$ such that $(\lambda I - F)x = y$.

$$\begin{aligned} (\lambda x_1 - a_1 - x_1^n, \lambda x_2 - a_2 - x_2^n, \dots) &= (y_1, y_2, \dots) \implies \\ \lambda x_i - a_i - x_i^n &= y_i, \forall i \in \mathbb{N} \\ x_i^n - \lambda x_i + a_i + y_i &= 0, \forall i \in \mathbb{N}. \end{aligned}$$

These odd-degree polynomial equations have at least one real solutions x_i for every $y_i \in \mathbb{R}$ and it means that operator $\lambda I - F$ is onto for $\lambda \neq 0$. For $\lambda \leq 0$ operator $\lambda I - F$ is bijective and now we research if $(\lambda I - F)^{-1}$ is a continuous operator. For $\lambda = 0$ we have

$$(-F)^{-1}(x_1, x_2, \dots) = (\sqrt[n]{-a_1 - x_1}, \sqrt[n]{-a_2 - x_2}, \dots)$$

and this is continuous mapping. It follows from the Theorem 1.2., because $f(i, u) = \sqrt[n]{-a_i - u}$ are continuous functions $\forall i \in \mathbb{N}$. For $\lambda < 0$:

$$(\lambda I - F)(x_1, x_2, \dots) = (y_1, y_2, \dots)$$

$$(\lambda x_1 - a_1 - x_1^n, \lambda x_2 - a_2 - x_2^n, \dots) = (y_1, y_2, \dots)$$

The function $f(i, u) = \lambda u - a_i - u^n$ is bijective and decreasing (for $\lambda < 0$) and continuous, $\forall i \in \mathbb{N}$, so there exists its inverse $f^{-1}(i, u)$ (which is also bijective, decreasing and continuous function) $\forall i \in \mathbb{N}$ ([5]). Now from the Theorem 1.2 follows that operator $(\lambda I - F)^{-1}$, generated by $f^{-1}(i, u)$, is continuous operator. We proved that for $\lambda \leq 0$ the operator $(\lambda I - F)$ is bijective and $(\lambda I - F)^{-1}$ is continuous operator. For $\lambda = 0$ a superposition operator $G = (-F)^{-1}$ is generated by the function $g(s, u) = -\sqrt[n]{a(s) + u}$. The function $g'_u(s, u) = -\frac{1}{n} \cdot (a(s) + u)^{-\frac{n-1}{n}}$ is not continuous in $u = -a(s)$ ($\forall s \in \mathbb{N}$), so from the Theorem 1.3 it follows that operator G can not be continuously differentiable at $x_0 = (-a_1, -a_2, -a_3, \dots) \in l_p$. Hence, $0 \notin \rho_N(F) \implies$

$$(3.8) \quad 0 \in \sigma_N(F).$$

If $\lambda < 0$ then $\lambda I - F$ is bijective mapping and then we have to find out if $(\lambda I - F)^{-1}$ is a continuously differentiable operator.

a) Case that $n = 3$. We have $(\lambda I - F)^{-1}(x_1, x_2, \dots) =$

$$\begin{aligned} &\left(\sqrt[3]{\frac{-(a_1+x_1)}{2}} + \sqrt{\Delta_1} - \sqrt[3]{\frac{a_1+x_1}{2}} + \sqrt{\Delta_1}, \right. \\ &\quad \left. \sqrt[3]{\frac{-(a_2+x_2)}{2}} + \sqrt{\Delta_2} - \sqrt[3]{\frac{a_2+x_2}{2}} + \sqrt{\Delta_2}, \dots \right), \end{aligned}$$

where $\Delta_i = \left(\frac{a_i+x_i}{2}\right)^2 + \left(\frac{-\lambda}{3}\right)^3$. We have a superposition operator $G = (\lambda I - F)^{-1}$ which is generated by the function:

$$g(s, u) = \sqrt[3]{-\frac{a(s)+u}{2} + \sqrt{\Delta}} - \sqrt[3]{\frac{a(s)+u}{2} + \sqrt{\Delta}},$$

with $\Delta = \left(\frac{a(s)+u}{2}\right)^2 + \left(\frac{-\lambda}{3}\right)^3$. Since $\lambda < 0$, we have $\Delta > 0$ and the expressions under the cubic root are positive ($\pm \frac{a(s)+u}{2} + \sqrt{\Delta} > 0$). Then for $g'_u(s, u)$ we get ($\forall u \in \mathbb{R}, \forall s \in \mathbb{N}$):

$$g'_u(s, u) = -\frac{3}{2\lambda^2} \left[A \left(1 - \frac{a(s)+u}{2\sqrt{\Delta}}\right) + B \left(1 + \frac{a(s)+u}{2\sqrt{\Delta}}\right) \right],$$

where

$$A = \left(\frac{a(s)+u}{2} + \sqrt{\Delta}\right)^{\frac{2}{3}}; \quad B = \left(-\frac{a(s)+u}{2} + \sqrt{\Delta}\right)^{\frac{2}{3}}; \quad \Delta > 0.$$

Consequently, this function $g'_u(s, u)$ is continuous $\forall u \in \mathbb{R}, \forall s \in \mathbb{N}$ and according to the Theorem 1.3 the operator $G = (\lambda I - F)^{-1}$ is continuously differentiable. So we get for $\lambda < 0$ that $\lambda \in \rho_N(F)$, which together with (3.7) and (3.8) gives us that **Neuberger spectrum of F** is a set $\sigma_N(F) = [0, \infty)$.

b) Case that n is an odd number and $n > 3$. The superposition operator

$$(\lambda I - F)x = (\lambda x_1 - a_1 - x_1^n, \lambda x_2 - a_2 - y_2^n, \dots)$$

is generated by the function

$$(3.9) \quad f(i, u) = \lambda u - a_i - u^n.$$

For fixed $i \in \mathbb{N}$ we can consider the function (3.9) as the function of one variable u , where a_i is a real constant. For $\lambda < 0$ it is bijective, decreasing and continuous function (for every $i \in \mathbb{N}$), so there exists its inverse $f^{-1}(i, u)$ which is also bijective, decreasing and continuous function (for every $i \in \mathbb{N}$). The function (3.9) is convex for $u < 0$ and concave for $u > 0$ and it is a continuously differentiable function, that is, the function $f'_u(i, \cdot)$ is continuous at every u ($f'_u(i, 0) = \lambda < 0$). Thus $f^{-1}(i, u)$ is concave for $u < -a_i$ and convex for $u > -a_i$ and it is also continuously differentiable function for every $i \in \mathbb{N}$ ([5]). Indeed, it is clear that $f^{-1}(i, u)$ is differentiable for $u < -a_i$ or $u > -a_i$ and it is also differentiable in $u = -a_i$ with $(f^{-1})'_u(i, -a_i) = \frac{1}{\lambda} < 0$. By the Theorem 1.3 it means that operator $(\lambda I - F)^{-1}$ generated by the function $f^{-1}(i, u)$, is a continuously differentiable operator (for $\lambda < 0$). Again we get that

$$(3.10) \quad (-\infty, 0) \subseteq \rho_N(F) \quad .$$

Finally, from (3.7), (3.8) and (3.10) we get **the Neuberger spectrum of F** is a set $\sigma_N(F) = [0, \infty)$. \square

We can now summarize the Lemma 3.1 and the Lemma 3.2 in the following:

THEOREM 3.1. *Let the superposition operator $F : l_p \rightarrow l_p$ be generated by the function $f(s, u) = a(s) + u^n$, where $(a(s))_s$ is a sequence from the space l_t ($1 \leq t \leq p \leq \infty$). Then the Neuberger spectrum of F is:*

$$\sigma_N(F) = \begin{cases} \mathbb{R}, & \text{if } n \text{ is even} \\ [0, \infty), & \text{if } n \text{ is odd and } n \geq 3 \end{cases}$$

In case that l_p is a space of sequences over \mathbb{C} then $\sigma_N(F) = \mathbb{C}$.

Now we will consider the superposition operator F generated by the function $f(s, u) = a(s) \cdot u^n$, $n \in \mathbb{N}$, where $(a(s))_s$ is a bounded sequence ($a \in l_\infty$) and $(\exists s \in \mathbb{N}) a(s) \neq 0$. We can see that operator F can act from l_p to l_p ($1 \leq p \leq \infty$)

a) Case $1 \leq p < \infty$. Since a is a bounded sequence of numbers, then there exists a number

$$(3.11) \quad b = \sup_{s \in \mathbb{N}} |a_s| < \infty$$

such that $\forall s \in \mathbb{N}, |a(s)| \leq b$. Now we have

$$|f(s, u)| = |a(s) \cdot u^n| = |a(s)| \cdot |u^n| \leq b \cdot |u|^n.$$

For $|u| < 1$ we have inequality $|u|^n < |u|$ and

$$(3.12) \quad |f(s, u)| \leq b \cdot |u|^n < b \cdot |u| = b \cdot |u|^{\frac{p}{p-1}}.$$

Inequality (3.12) holds for $|u| < 1$ and $\forall s \in \mathbb{N}$, so from the Theorem 1.1 follows that operator F acts from l_p to l_p .

b) Case $p = \infty$.

$$Fx = F(x_1, x_2, \dots) = (a_1 x_1^n, a_2 x_2^n, \dots)$$

$$x = (x_1, x_2, \dots) \in l_\infty \implies$$

$$(3.13a) \quad \exists \sup_{s \in \mathbb{N}} |x_s| = M \quad \text{and} \quad \sup_{s \in \mathbb{N}} |x_s|^n = M^n.$$

Now, from (3.11) and (3.13a) we get

$$\sup_{s \in \mathbb{N}} |a_s x_s^n| = \sup_{s \in \mathbb{N}} |a_s| \cdot \sup_{s \in \mathbb{N}} |x_s|^n = b \cdot M^n < \infty,$$

which means that operator F acts from l_∞ to l_∞ .

From the Propositions 2.1 and 2.3 we see that this operator F is a continuously differentiable operator, $F \in \mathcal{C}^1(l_p)$.

LEMMA 3.3. *Let the superposition operator $F : l_p \rightarrow l_p$ ($1 \leq p \leq \infty$) be generated by the function $f(s, u) = a(s) \cdot u^n$, where n is an even number and $(a(s))_s$ is a sequence from the space l_∞ . Then the Neuberger spectrum of F is $\sigma_N(F) = \mathbb{R}$ (or $\sigma_N(F) = \mathbb{C}$).*

PROOF. Denote $a(s) = a_s, s \in \mathbb{N}$. We have

$$\begin{aligned} Fx &= F(x_1, x_2, \dots) = (a_1 \cdot x_1^n, a_2 \cdot x_2^n, \dots) \text{ and} \\ F0 &= F(0, 0, \dots) = (0, 0, \dots). \end{aligned}$$

First we have to find when the operator $\lambda I - F$ is bijective. For $\lambda = 0$ we get

$$-Fx = (-a_1 \cdot x_1^n, -a_2 \cdot x_2^n, \dots).$$

It follows from $-Fx = -Fy$ that

$$\begin{aligned} (-a_1 \cdot x_1^n, -a_2 \cdot x_2^n, \dots) &= (-a_1 \cdot y_1^n, -a_2 \cdot y_2^n, \dots) \iff \\ (3.14a) \quad -a_s \cdot x_s^n &= -a_s \cdot y_s^n, \forall s \in \mathbb{N}. \end{aligned}$$

From (3.14a) it does not have to follow that $x_s = y_s$, so the operator $-F$ is not injective. Let us find out for $\lambda \neq 0$ if the equation $(\lambda I - F)x = 0$, has some nontrivial solutions.

$$\begin{aligned} (\lambda I - F)x &= (\lambda x_1 - a_1 x_1^n, \lambda x_2 - a_2 x_2^n, \dots) = (0, 0, \dots) \\ \lambda x_s - a_s x_s^n &= 0, \forall s \in \mathbb{N}. \end{aligned}$$

If $a_s = 0$ for some s , then follows $x_s = 0$. If $a_s \neq 0$ then we have

$$x_s (\lambda - a_s x_s^{n-1}) = 0 \implies (x_s = 0) \vee (x_s^{n-1} = \frac{\lambda}{a_s}).$$

Since $n - 1$ is an odd number there always exists a real number $x_s = \sqrt[n-1]{\frac{\lambda}{a_s}} \neq 0$. Hence, the operator $\lambda I - F$ is not injective for any real number λ . Thus, it follows from the Definition 1.2, that the Neuberger resolvent set is empty and the Neuberger spectrum of F is $\sigma_N(F) = \mathbb{R}$. \square

LEMMA 3.4. *Let the superposition operator $F : l_p \rightarrow l_p$ ($1 \leq p \leq \infty$) be generated by the function $f(s, u) = a(s) \cdot u^n$, where n is an odd number and $(a(s))_s$ is a sequence from the space l_∞ . Then the Neuberger spectrum of F is*

$$(3.15) \quad \sigma_N(F) = \begin{cases} [0, \infty), & \text{if } a(s) \geq 0, \forall s \in \mathbb{N} \\ (-\infty, 0], & \text{if } a(s) \leq 0, \forall s \in \mathbb{N} \\ \mathbb{R}, & \text{if } (\exists i, j) (a_i > 0 \wedge a_j < 0). \end{cases}$$

PROOF. Denote $a(s) = a_s, s \in \mathbb{N}$. We have

$$\begin{aligned} Fx &= F(x_1, x_2, \dots) = (a_1 \cdot x_1^n, a_2 \cdot x_2^n, \dots) \\ (\lambda I - F)x &= (\lambda x_1 - a_1 x_1^n, \lambda x_2 - a_2 x_2^n, \dots). \end{aligned}$$

I) Case that $a_s \geq 0, \forall s \in \mathbb{N}$. For $\lambda = 0$ we get

$$-Fx = (-a_1 x_1^n, -a_2 x_2^n, \dots).$$

From $-Fx = -Fy$ follows

$$\begin{aligned} (-a_1 x_1^n, -a_2 x_2^n, \dots) &= (-a_1 y_1^n, -a_2 y_2^n, \dots) \iff \\ (3.16a) \quad -a_s x_s^n &= -a_s y_s^n, \forall s \in \mathbb{N} \end{aligned}$$

If $\exists a_s = 0$ then from (3.16a) it does not follow $x_s = y_s$ and it means that operator $-F$ is not injective. If $a_s > 0, \forall s \in \mathbb{N}$, then from (3.16a) (since n is an odd number) it follows that $x_s = y_s, \forall s \in \mathbb{N}$, i.e. $x = y$. It means that operator $-F$ is injective in case that $a_s > 0, \forall s \in \mathbb{N}$. For $\lambda \neq 0$ let us first consider the operator equation $(\lambda I - F)x = 0$.

$$\begin{aligned} (\lambda x_1 - a_1 x_1^n, \lambda x_2 - a_2 x_2^n, \dots) &= (0, 0, \dots) \iff \\ \lambda x_s - a_s x_s^n &= 0, \forall s \in \mathbb{N}. \end{aligned}$$

If $a_s = 0$ for some $s \in \mathbb{N}$, then $x_s = 0$ for those s ; otherwise (for $s \in \mathbb{N}$ such that $a_s > 0$) we can write

$$x_s (\lambda - a_s x_s^{n-1}) = 0$$

From the last equation it follows that $x_s = 0$ or

$$(3.17) \quad a_s x_s^{n-1} = \lambda.$$

If $\lambda > 0$ and $a_s > 0$ then the equation (3.17) has solutions $x_s = \pm \sqrt[n-1]{\frac{\lambda}{a_s}}$. If $\lambda < 0$ and $a_s > 0$ then the equation (3.17) has no real solutions (since $n - 1$ is even). It means that the equation $(\lambda I - F)x = 0$ has nontrivial solutions for $\lambda > 0$ and $a_s \geq 0$ and since $F0 = 0$ it gives us the consequence that $\lambda I - F$ is not injective (for $\lambda > 0$ and $a_s \geq 0$). So we get

$$(3.18) \quad (0, \infty) \subseteq \sigma_N(F).$$

If $\lambda < 0$ suppose that $(\lambda I - F)x = (\lambda I - F)y$.

$$\begin{aligned} (\lambda x_1 - a_1 x_1^n, \lambda x_2 - a_2 x_2^n, \dots) &= (\lambda y_1 - a_1 y_1^n, \lambda y_2 - a_2 y_2^n, \dots) \iff \\ \lambda x_s - a_s x_s^n &= \lambda y_s - a_s y_s^n, \forall s \in \mathbb{N} \iff \\ (3.19a) \quad \lambda (x_s - y_s) &= a_s (x_s^n - y_s^n), \forall s \in \mathbb{N} \end{aligned}$$

If $a_s = 0$ for some $s \in \mathbb{N}$, then $x_s = y_s$ for those s . Otherwise (for $s \in \mathbb{N}$ such that $a_s > 0$) we get from (3.19a) that $x_s = y_s$ or

$$(3.20) \quad x_s^{n-1} + x_s^{n-2} y_s + \dots + x_s y_s^{n-2} + y_s^{n-1} - \frac{\lambda}{a_s} = 0.$$

The equation (3.20) is similar to the equation (3.5). Since $\frac{\lambda}{a_s} < 0$, we have already shown in the proof of the Lemma 3.2 that it implies

$$x_s^{n-1} + x_s^{n-2} y_s + \dots + x_s y_s^{n-2} + y_s^{n-1} - \frac{\lambda}{a_s} > 0,$$

so the equation (3.20) has no real solutions. It means that from (3.19a) follows $x_s = y_s, \forall s \in \mathbb{N}$. Hence, $\lambda I - F$ is injective operator for $\lambda < 0$ and $a_s \geq 0$. Surjectivity of an operator $\lambda I - F$ for every real λ can be proved on the similar way as in the proof of the Lemma 3.2. Thus, $\lambda I - F$ is bijective operator for $(\lambda = 0 \wedge (a_s > 0, \forall s \in \mathbb{N}))$ and $(\lambda < 0 \wedge (a_s \geq 0, \forall s \in \mathbb{N}))$. For these cases we are going to investigate if $(\lambda I - F)^{-1}$ is a continuously differentiable operator.

a) $\lambda = 0 \wedge (a_s > 0, \forall s \in \mathbb{N})$

$$(-F)^{-1}x = \left(\sqrt[n]{\frac{-x_1}{a_1}}, \sqrt[n]{\frac{-x_2}{a_2}}, \dots \right)$$

This operator $(-F)^{-1}$ is generated by the function $f(s, u) = \sqrt[n]{\frac{-u}{a_s}}$. The function $f'_u(s, u) = -\left(n \sqrt[n]{a_s} u^{\frac{n-1}{n}}\right)^{-1}$ is not continuous in $u = 0$, so by the Theorem 1.3 we have that $(-F)^{-1}$ is not differentiable operator in zero, $(-F)^{-1} \notin \mathfrak{C}(l_p)$. Thus, $0 \notin \rho_N(F) \implies$

$$(3.21) \quad 0 \in \sigma_N(F).$$

b) $\lambda < 0 \wedge (a_s \geq 0, \forall s \in \mathbb{N})$

Operator $\lambda I - F$ is generated by the function $f(s, u) = \lambda u - a_s u^n$ which is continuous, bijective and decreasing function (for every fixed s). It is convex for $u < 0$ and concave for $u > 0$ and it is a continuously differentiable function, that is, the function $f'_u(s, u) = \lambda - a_s n u^{n-1}$ is continuous at every u ($f'_u(s, 0) = \lambda < 0$). Thus there exists its inverse $f^{-1}(s, u)$ which is continuous, bijective and decreasing function (for every s) and it is concave for $u < 0$ and convex for $u > 0$ and it is also continuously differentiable function for every $s \in \mathbb{N}$ ($(f^{-1})'_u(s, 0) = \frac{1}{\lambda} < 0$). By the Theorem 1.3 it means that operator $(\lambda I - F)^{-1}$ generated by the function $f^{-1}(s, u)$, is a continuously differentiable operator for $\lambda < 0$. So we get

$$(3.22) \quad (-\infty, 0) \subseteq \rho_N(F).$$

Finally we get from (3.18), (3.21) and (3.22) that $\sigma_N(F) = [0, \infty)$.

II) Case that $a_s \leq 0, \forall s \in \mathbb{N}$

Again from (3.16a) we conclude: operator $-F$ is not injective if $\exists a_s = 0$ and it is injective if $a_s < 0, \forall s \in \mathbb{N}$. For $a_s < 0, \forall s \in \mathbb{N}$, the operator $(-F)^{-1}$ is generated by the function $f(s, u) = \sqrt[n]{\frac{-u}{a_s}}$. The function $f'_u(s, u) = -\left(n \sqrt[n]{a_s} u^{\frac{n-1}{n}}\right)^{-1}$ is not continuous in $u = 0$, so by the Theorem 1.3 we have that $(-F)^{-1}$ is not differentiable operator in zero. Thus, we get $0 \in \sigma_N(F)$ (3.21). Analogously as in the previous case I), from the equations (3.17) we conclude that the operator equation $(\lambda I - F)x = 0$ has nontrivial solutions if $\lambda < 0$ (with $x_s = \pm \sqrt[n-1]{\frac{\lambda}{a_s}}$ if $a_s < 0$ and $x_s = 0$ if $a_s = 0$). It means that $\lambda I - F$ is not injective operator for $\lambda < 0$. For $\lambda > 0$ from the equation $(\lambda I - F)x = (\lambda I - F)y$ we again comes up to the conclusion that $x_s = y_s$ if $a_s = 0$ and if $a_s < 0$ then from the equation (3.20) where $\frac{\lambda}{a_s} < 0$, we see that again values $x_s = y_s$. Hence, $\lambda I - F$ is an injective operator for $\lambda > 0$ and $a_s \leq 0$. Naturally, operator $\lambda I - F$ is surjective for every real λ . So,

$$(3.23) \quad (-\infty, 0) \subseteq \sigma_N(F).$$

Operator $\lambda I - F$ is bijective for $\lambda > 0$ and $a_s \leq 0$ and it is generated by the function $f(s, u) = \lambda u - a_s u^n$ which is continuous, bijective and increasing function

(for every fixed s). It is concave for $u < 0$ and convex for $u > 0$ and it is a continuously differentiable function, that is, the function $f'_u(s, u) = \lambda - a_s n u^{n-1}$ is continuous at every u ($f'_u(s, 0) = \lambda > 0$). Thus there exists its inverse $f^{-1}(s, u)$ which is continuous, bijective and increasing function (for every s) and it is convex for $u < 0$ and concave for $u > 0$ and it is also continuously differentiable function for every $s \in \mathbb{N}$ ($(f^{-1})'_u(s, 0) = \frac{1}{\lambda} > 0$). By the Theorem 1.3 it means that operator $(\lambda I - F)^{-1}$ generated by the function $f^{-1}(s, u)$, is a continuously differentiable operator for $\lambda > 0$. So

$$(3.24) \quad (0, \infty) \subseteq \rho_N(F).$$

Now, from the (3.21), (3.23) and (3.24) we get $\sigma_N(F) = (-\infty, 0]$.

III) Case that $(\exists i, j) (a_i > 0 \wedge a_j < 0)$

From the above observations in cases I) and II), we can conclude that the Neuberger spectrum in this third case is $\sigma_N(F) = \mathbb{R}$. □

We can summarize the Lemma 3.3 and Lemma 3.4 in the following:

THEOREM 3.2. *Let the superposition operator $F : l_p \rightarrow l_p$ ($1 \leq p \leq \infty$) be generated by the function $f(s, u) = a(s) \cdot u^n$, where $n \in \mathbb{N}$ and $(a(s))_s$ is a sequence from the space l_∞ . Then the Neuberger spectrum of F is*

$$\sigma_N(F) = \begin{cases} [0, \infty), & \text{if } n \text{ is odd and } a(s) \geq 0, \forall s \in \mathbb{N} \\ (-\infty, 0], & \text{if } n \text{ is odd and } a(s) \leq 0, \forall s \in \mathbb{N} \\ \mathbb{R}, & \text{if } n \text{ is even or } n \text{ is odd and } (\exists i, j) (a_i > 0 \wedge a_j < 0). \end{cases}$$

4. Some other spectra and discussion

We may compare some other notions of spectrum for above mentioned nonlinear operators. For the class of continuous operators F on a Banach space X Rhodius introduced in 1984. the following notion of a spectrum. A point $\lambda \in \mathbb{K}$ belongs to the Rhodius resolvent set $\rho_R(F)$ if $\lambda I - F$ is bijective and $(\lambda I - F)^{-1}$ is a continuous operator on X . The set $\sigma_R(F) = \mathbb{K} \setminus \rho_R(F)$ is called the Rhodius spectrum of F . The set of all eigenvalues of the operator F is the point spectrum of F , i.e. $\sigma_p(F) = \{\lambda \in \mathbb{K} : Fx = \lambda x \text{ for some } x \neq 0\}$. The point spectrum is an important part of the spectrum of a linear operator and it is also important part of the Rhodius and Neuberger spectrum of nonlinear operator. In case $F0 = 0$ we have that the point spectrum is a subset of the Rhodius, as well as, of the Neuberger spectrum. It is not difficult to find out the Rhodius and point spectra from the previous section in this paper (see also [15]).

1) If the superposition operator $F : l_p \rightarrow l_p$ is generated by the function $f(s, u) = a(s) + u^n$, where n is an even number and $(a(s))_s$ is a sequence from the space l_t ($1 \leq t \leq p \leq \infty$), then:

$$\begin{aligned}\sigma_R(F) &= \mathbb{R}; \\ \sigma_p(F) &= \begin{cases} \mathbb{R} \setminus \{0\}, & \text{if } a(s) = 0, \forall s \in \mathbb{N} \\ \mathbb{R}, & \text{if } (a(s) \leq 0) \wedge (\exists a(s) < 0) \\ (-\infty, -2\sqrt{\sup a(s)}] \cup [2\sqrt{\sup a(s)}, +\infty), & \text{if } \sup a(s) > 0, n = 2. \end{cases}\end{aligned}$$

The Rhodius spectrum is the same as the Neuberger spectrum

$$\sigma_R(F) = \sigma_N(F) = \mathbb{R}.$$

2) If the superposition operator $F : l_p \rightarrow l_p$ is generated by the function $f(s, u) = a(s) + u^n$, where n is an odd number and $(a(s))_s$ is a sequence from the space l_t ($1 \leq t \leq p \leq \infty$), then:

$$\sigma_R(F) = (0, \infty); \quad \sigma_p(F) = \begin{cases} (0, \infty), & \text{if } a(s) = 0, \forall s \in \mathbb{N}. \\ \mathbb{R}, & \text{if } \exists a(s) \neq 0. \end{cases}$$

The Rhodius spectrum is a strict subset of the Neuberger spectrum $\sigma_R(F) = (0, \infty) \subset [0, \infty) = \sigma_N(F)$. In case $\exists a(s) \neq 0$ we do not have $F0 = 0$ and the point spectrum $\sigma_p(F) = \mathbb{R}$ is not a subset of the Rhodius spectrum $\sigma_R(F) = (0, \infty)$, nor of the Neuberger spectrum $\sigma_N(F) = [0, \infty)$. In case $a(s) = 0, \forall s \in \mathbb{N}$, we have that $(0, \infty) = \sigma_p(F) = \sigma_R(F) \subset \sigma_N(F) = [0, \infty)$.

3) If the superposition operator $F : l_p \rightarrow l_p$ is generated by the function $f(s, u) = a(s) \cdot u^n$, where n is an even number and $(a(s))_s$ is a sequence from the space l_∞ , then:

$$\sigma_R(F) = \mathbb{R}; \quad \sigma_p(F) = \begin{cases} \mathbb{R} \setminus \{0\}, & \text{if } a(s) \neq 0, \forall s \in \mathbb{N} \\ \mathbb{R}, & \text{if } \exists a(s) = 0. \end{cases}$$

We have that $\sigma_R(F) = \sigma_N(F) = \mathbb{R}$. If there is some $a(s) = 0$ then $\sigma_p(F) = \sigma_R(F) = \sigma_N(F) = \mathbb{R}$; if $a(s) \neq 0, \forall s \in \mathbb{N}$ then $\mathbb{R} \setminus \{0\} = \sigma_p(F) \subset \sigma_R(F) = \sigma_N(F) = \mathbb{R}$.

4) If the superposition operator $F : l_p \rightarrow l_p$ is generated by the function $f(s, u) = a(s) \cdot u^n$, where n is an odd number and $(a(s))_s$ is a sequence from the space l_∞ , then:

$$\sigma_R(F) = \begin{cases} (0, \infty), & \text{if } a(s) > 0, \forall s \in \mathbb{N} \\ [0, \infty), & \text{if } (a(s) \geq 0) \wedge (\exists a(s) = 0) \\ (-\infty, 0), & \text{if } a(s) < 0, \forall s \in \mathbb{N} \\ (-\infty, 0], & \text{if } (a(s) \leq 0) \wedge (\exists a(s) = 0) \\ \mathbb{R} \setminus \{0\}, & \text{if } (\exists i, j \in \mathbb{N})(a(i) > 0 \wedge a(j) < 0), a(s) \neq 0, \forall s \in \mathbb{N} \\ \mathbb{R}, & \text{if } (\exists i, j, k \in \mathbb{N})(a(i) > 0, a(j) < 0, a(k) = 0). \end{cases}$$

The point spectrum is the same as the Rhodius spectrum. The Rhodius and the Neuberger spectrum are the same in the following cases:

- a) $(a(s) \geq 0) \wedge (\exists a(s) = 0)$, $\sigma_R(F) = \sigma_N(F) = [0, \infty)$
 - b) $(a(s) \leq 0) \wedge (\exists a(s) = 0)$, $\sigma_R(F) = \sigma_N(F) = (-\infty, 0]$
 - c) $(\exists i, j, k \in \mathbb{N})(a(i) > 0, a(j) < 0, a(k) = 0)$, $\sigma_R(F) = \sigma_N(F) = \mathbb{R}$.
- In other three cases we get $\sigma_p(F) = \sigma_R(F) \subset \sigma_N(F) = \sigma_R(F) \cup \{0\}$.

The asymptotic spectrum has been defined by Furi, Martelli and Vignoli [12] in 1978. We call a continuous operator $F : X \rightarrow Y$ stably solvable if given any compact operator $G : X \rightarrow Y$ with

$$[G]_Q = \limsup_{\|x\| \rightarrow \infty} \frac{\|G(x)\|}{\|x\|} = 0,$$

the equation $F(x) = G(x)$ has a solution $x \in X$. A stably solvable operator $F \in \mathfrak{C}(X, Y)$ is said to be FMV-regular if both $[F]_q > 0$ and $[F]_a > 0$ ($[F]_q = \liminf_{\|x\| \rightarrow \infty} \frac{\|G(x)\|}{\|x\|}$; $[F]_a = \inf_{\alpha(M) > 0} \frac{\alpha(F(M))}{\alpha(M)}$, $M \subseteq X$ bounded, $\alpha(M)$ is the measure of noncompactness), see [2]. Given $F \in \mathfrak{C}(X)$, the set

$$\rho_{FMV}(F) = \{\lambda \in \mathbb{K} : \lambda I - F \text{ is FMV-regular}\}$$

is called the Furi-Martelli-Vignoli resolvent set and its complement $\sigma_{FMV}(F) = \mathbb{K} \setminus \rho_{FMV}(F)$ the Furi-Martelli-Vignoli spectrum of F , or FMV-spectrum, for short. Intuitively speaking, if a point $\lambda \in \mathbb{K}$ belongs to $\sigma_{FMV}(F)$, then the operator $\lambda I - F$ is characterized by some lack of surjectivity, properness or boundedness. This spectrum is based on the notion of stable solvability of operators, a nonlinear analogue of surjectivity and it takes into account the asymptotic properties of an operator. For a bounded linear operator all these spectra (Rhodius, Neuberger and FMV) gives precisely the familiar spectrum. In contrast to other two nonlinear spectra, the FMV-spectrum, in general, does not contain the point spectrum. On the other hand, the FMV-spectrum has a nice property which the Rhodius and Neuberger do not have in general: the FMV-spectrum is always closed.

Let the superposition operator $F : l_p \rightarrow l_p$ be generated by the function $f(s, u) = a(s) \cdot u^n$, ($(a(s))_s \in l_\infty$) or by the function $f(s, u) = a(s) + u^n$ ($(a(s))_s \in l_\infty, 1 \leq t \leq p \leq \infty$). If n is even and $\mathbb{K} = \mathbb{R}$, then $\lambda I - F$ is not surjective for any real λ , so $\lambda I - F$ is not stably solvable for any real λ . Hence the FMV-spectrum of F is $\sigma_{FMV}(F) = \mathbb{R}$. If the superposition operator $F : l_p \rightarrow l_p$ is generated by the function $f(s, u) = u^n$, where n is odd then $\sigma_{FMV}(F) = \emptyset$.

We can conclude that for our superposition operators $F : l_p \rightarrow l_p$, generated by the functions $f(s, u) = a(s) \cdot u^n$ or $f(s, u) = a(s) + u^n$, ($1 \leq p \leq \infty, \mathbb{K} = \mathbb{R}$), all these nonlinear spectra of F (the Rhodius spectrum, the Neuberger spectrum and FMV-spectrum) coincide if n is even. The FMV-spectrum has various applications to integral equations, boundary value problems and bifurcation theory. Eigenvalues plays an important role in classical linear spectral theory. In contrast to the other two spectra, the FMV-spectrum in general does not contain the point spectrum. The role of the point spectrum now may be substituted by the asymptotic approximate point spectrum (see [2]). Many concepts in nonlinear analysis are in fact of local nature (such as the derivative of a map at some point) and so recently a new notion called spectrum of a nonlinear operator at some point, has been defined by Calamai, Furi and Vignoli [14], (CFV-spectrum $\sigma_{CFV}(F)$, or $\sigma(f, p)$). This spectrum is close in spirit to the FMV-spectrum. Nevertheless, while the asymptotic spectrum is related to the asymptotic behaviour of a map, $\sigma(f, p)$ depends only on the germ of f at p . In [13] authors also introduced and study a spectrum called

small Calamai-Furi-Vignoli spectrum and denoted by $\sigma_{cfv}(F)$. In view of the Theorem 3.7. from [13], we may easily find out the small Calamai-Furi-Vignoli spectrum $\sigma_{cfv}(F)$ for our superposition operators F ($F : l_p \rightarrow l_p$, ($1 \leq p \leq \infty$)) generated by the functions $f(s, u) = a(s) + u^n$ or $f(s, u) = a(s) \cdot u^n$; $n \in \mathbb{N}$, $n \geq 2$). These operators are Fréchet differentiable at 0 and $F'(0)(x_1, x_2, x_3, \dots) = (0, 0, 0, \dots)$, so $\sigma_{cfv}(F) = \sigma(F'(0)) = \{0\}$.

These results of the Fréchet differentiability and the Neuberger spectrum (and other notions of spectra) for nonlinear superposition operators may be used in solving some nonlinear operator equations and eigenvalue problems. We are interested in a solvability of nonlinear systems of equations (of Hammerstein type), i.e. operator equations with a superposition operator F in a space of sequences l_p and $l_{p,\sigma}$ (see [16]). These systems often occur in a chaos theory and theory of stochastic processes.

References

- [1] F. Dedagić, P. P. Zabreiko, *Operator Superpositions in the Spaces l_p* , Sibirskii Matematicheskii Zhurnal, vol. **28**, No.1, (1987.), 86-98
- [2] J. Appell, E. De Pascale, A. Vignoli, *Nonlinear Spectral Theory*, Walter de Gruyter, Berlin-New York, 2004.
- [3] J. Appell, P. P. Zabreiko, *Nonlinear superposition operators*, Cambridge University Press, 1990.
- [4] J. W. Neuberger, *Existence of a spectrum for nonlinear transformations*, Pacific. J. Math. **31** (1969), 157-159
- [5] E. Hewitt, K. Stromberg, *Real and abstract Analysis*, Springer-Verlag Berlin Heidelberg New York, 1965.
- [6] S. W. Wang, *Differentiability of the Nemytskij operator*, Dokladi Akad. Nauk **150**, 6 (1963).
- [7] N. Okičić, *Nelinearni operator superpozicije na težinskim Banachovim prostorima funkcija prirodnog argumenta*, Doc. Diss., Tuzla, (2005)
- [8] P. Catană, *Different spectra for nonlinear operators*, An. Șt. Univ. Ovidius Constanța, vol. **13** (1), (2005), 5-14.
- [9] J. López-Gómez, *Spectral Theory and Nonlinear Functional Analysis*, Chapman & Hall, Boca Raton 2001.
- [10] R. H. Martin, *Nonlinear Operator and Differential Equations in Banach Spaces*, J. Wiley, New York, 1976.
- [11] G. H. Hardy, J. E. Littlewood, G. Pólya, *Inequalities*, Cambridge University Press, 1978.
- [12] M. Furi, M. Martelli, A. Vignoli, *Contributions to the spectral theory for nonlinear operators in Banach spaces*, Annali Mat. Pura Appl. **118** (1978), 229-294
- [13] J. Appell, A. Calamai, A. Schmied, *Yet Another Spectrum for Nonlinear Operators in Banach Spaces*, Nonlin. Funct. Anal. Appl. **15**, no.4 (2010); Available online on <http://dipmat.univpm.it/calamai/Pub/APCALSCH.pdf>
- [14] A. Calamai, M. Furi, A. Vignoli, *A new spectrum for nonlinear operators in Banach spaces*, Nonlin. Funct. Anal. Appl. **14**, no.2 (2009); Available online on <http://www.dma.unifi.it/furi/lavori/pdf/CaFuVi-a.pdf>
- [15] S. Halilović, R. Vugdalić, *The Rhodius Spectra of Some Nonlinear Superposition Operators in the Spaces of Sequences*, Adv. Math., Sci.J., vol. **3**, no. 2, (2014), 83-96
- [16] F. Dedagić, S. Halilović, E. Baraković, *On the solvability of discrete nonlinear Hammerstein systems in $l_{p,\sigma}$ spaces*, Mathematica Balkanica, vol. **26**, fasc.3-4 (2012), 325-333

Received by editors 15.08.2014; revised version 18.12.2014. and 07.01.2015.

Available online 15.01.2015.

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF TUZLA, UNIVERZITETSKA 4, 75 000, TUZLA,
BOSNIA AND HERZEGOVINA

E-mail address: sanela.halilovic@untz.ba, ramiz.vugdalic@untz.ba